ORIGINAL

REQUISITION FOR PURCHASE ORDER

ROCKDALE COUNTY, GEORGIA

	EW		U W	4	II D
K	M-	21)	.7	11	
150 C.S	-1-1-	0		-	Оримация

VENDOR # 55242 P.O.#

VENDOR QUOTATIONS REQUIREMENTS

15,000.000 and OVER - FORMAL BID/RFP PROCEDURE IS REQUIRED 2,500.00 TO 14,999.99 - THREE WRITTEN QUOTES ATTACHED

'		III-II MONTO AII-N	The second secon		0.00 TO 2499.	99 - ONE PHONE O	QUOTE (dept	s required to rotate	sources)	
Ship To Address: F	leet - 2	570 OI	d Covington Hwy., Conyers, G	A 30012	VEN	DOR #1	VE	NDOR #2	VEI	NDOR #3
Department/ Account	Quantity	Unit	Descript	ion	ProLog	ic ITS, LLC				
	10				UNIT	EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED
			Quote #010	752 v1						
100-3520-531100-31	1	Each	Four (4) Truck Light Packages - 20	024 Ford F-150 - Includes	35,110.96	35,110.96				
			Products and Services							
	1	Each	Transport - Qty. 4		2,000.00	2,000.00				
	1	Each	Shipping - Qty .4		900.00	900.00				
			Per Unit Price Contract 2	024-158 - ITB #23-16						
	Contract Con		BOC Approved	09/24/2024						
			Reverse	PO						
				a Contract						
			ant Mi	a Convicos						
THE ROLL OF THE PARTY OF THE PA			041111							
	CORNEC DE LOS CAMPOS CONTRACTOR DE LOS CAMPOS CAMPOS CONTRACTOR DE LOS CAMPOS CAMPOS CONTRACTOR DE LOS CAMPOS CONTRACTOR DE LOS CAMPOS CAM	1								
		Mariana and Constitution								
CHARLES AND THE STREET OF THE										
		1	Email to Depart: Angel.Kusch@ro	ckdalecountyga.gov						
			Email to Depart: Ken.Swift@rocke	dalecountyga.gov						
	-		Email to Depart: Meagan.Laseter@	@rockdalecountyga.gov		e e				
	-		Email to Vendor: Sharon.Small@F	ProLogicITS.com)			
				TOTAL	38,010.96	38,010.96		0.00		0.00
Recommended Sourc	e of Sup	ply:						D-4- D	44/40/04	
ProLogic ITS, LLC				Requesting Department: G	eneral Servi	ices - Fleet		Date Prepared:	11/19/24	
106 Northpoint Parkw	ay, Build	ding 2,	Suite 350			M-		Data Baguiradi	ASAD	
Acworth, GA 30102			PHONE: 678-794-9300	Elected Official Department Head:		NI		Date Required:	ASAF	
CONTACT: Sharon Sr		2.1		Department rieau.		Approve	d for prepa	ration of Purchas	e Order	
Purchasing Officer Us	se Only I	Below I	<u>_ine</u>	A I (Approve	u ioi picpe		0 0140.	
Aand to be mede to:			40 DINGE							
Award to be made to: (If not low quotation, in	ndicato r	oacon)	1901080	10) 4	Accounting	Officer (1	1	Date
(if not low quotation, ii	ndicate i	eason		- Inchel	/		711	11 /) - \ A	1 / f
			$\mathcal{O}_{\mathbb{R}}$	m 11/25/04		1 1)UCI	11 / 2	NON	14
		-	1001.00	12074	-	REQUISIT	TON FORM	Revised 7/08/2015	1/1/	
			Pr. M.	11/50/50 D		1000 (100) (1000 (1000 (1000 (1000 (1000 (1000 (1000 (100) (1000 (1000 (100) (1000 (1000 (100) (1000 (1000 (100) (1000 (100) (1000 (100) (1000 (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (1000 (100) (100) (1000 (100) (100) (1000 (100) (1000 (100) (100) (100) (1000 (100) (100) (100) (100) (100) (1000 (100) (1	NVAT	2024-60
				110				17	- V. ()	900

Prolisinto Products and Services into Solutions

TRANSFORMING

We have prepared a quote for you

Rockdale County Fleet Services GA- 2024 F150 4

Quote # 010752 Version 1

Quote Prepared for:

Rockdale County Board Of Commissioners-GA

Kimberly Veasley kimberly veasley@rockdalecountyga.gov

Prepared by:

ProLogic ITS LLC

Sharon Small. (678) 794-9300 Sharon Small@ProLogicITS.com

ProL\sigic ITS

Products

Manufacturer Part Number	Description	Price	Qty	Ext. Price
SIFMJS-FD15-P3	Front ILS for F150, red/blue/white	\$710.23	4	\$2,840.92
	Windshield			ľ
MPS62U-RW	MicroPulse Ultra 6, red/white	\$78.41	40	\$3,136.40
	4 in top channel, 2 on side of center push, 4 over wheel wells,			
MPSW9X-RW	MicroPulse Wide 9, red/white	\$111.36	8	\$890.88
	Side mirrors			
MPSMW9-	Pair of side mirror brackets for '21+ F150	\$29.50	4	\$118.00
FRD21MIR	Side mirrors			
FHL-CHG	Headlight flasher	\$71.00	4	\$284.00
FHL-TAIL	Taillight flasher	\$67.00	4	\$268.00
XSM2-RWA-US	Dual head Xstream, red/white/amber	\$253.50	8	\$2,028.00
	Rear window			
DFC-PB-FRD21	Center push bumper for '21+ F150	\$492.73	4	\$1,970.92
DFC-UG-FRD21	Upper guards for '21+ F150	\$308.18	4	\$1,232.72
DFC-TC4L-2	4-light top channel for F150	\$25.45	4	\$101.80
DFC-WC-FRD21	Wire covers for F150	\$30.00	4	\$120.00
DFC-SB-ES100C	DFC speaker bracket	\$0.00	4	\$0.00
ES100C	100W speaker	\$0.00	4	\$0.00
PF200H	Pathfinder siren/light controller, 200W, handheld model	\$948.86	4	\$3,795.44
OBDCABLE25- DGCAN	OBD cable for F150	\$96.59	4	\$386.36
EXPMOD24	24-channel expansion module	\$179.55	4	\$718.20
PFSPLTR-4	4-way CAT5 splitter	\$29.50	4	\$118.00
RBKIT1-COMPACT	Single Rumbler Compact kit	\$196.50	4	\$786.00
RBC2-FRD15ND	Rumbler Compact mount kit for F150	\$34.50	4	\$138.00
C3RNRDC-60L-	Outliner running board lights, 60", left wire exit, red/white	\$337.02	4	\$1,348.08
RW	Running boards			

ProL\sigic ITS

Products

Manufacturer	Description	Price	Qty	Ext. Price
Part Number				
C3RNRDC-60R-	Outliner running board lights, 60", right wire exit, red/white	\$337.02	4	\$1,348.08
RW	Running boards			
RNRBKT-F150	Outliner mounting brackets for F150	\$48.52	8	\$388.16
	Running boards			
BRK10900	Safety rack headache rack for crew cab, 5'6" bed F150	\$228.00	4	\$912.00
BRK30123	No drill installation kit for F150	\$101.88	4	\$407.52

Subtotal:

\$23,337.48

ProLogic Services

Manufacturer Part Number	Description	Price	Qtγ	Ext. Price
FLEETSERVICES	Installation includes the list of items mentioned herein. All other parts and or equipment not listed will be subject to additional installation fees.	\$2,792.37	4	\$11,169.48
	Customer will be responsible for transporting vehicles to the installation facility unless otherwise noted. Let it be known, Installation Services will not be scheduled until all product arrives at the designated install facility.			
Shop Supplies	Installation Consumables	\$151.00	4	\$604.00
	Includes Wiring, Zip Ties, Butts, Spacers, Fuses, and other Installation Materials not provided by the Manufacturer.			

Subtotal:

\$11,773.48

Transport

Manufacturer Part Number	Description	Price	Qty	Ext. Price
Vehicle pick up	Vehicle pick up from one customer location and drop off to one Prologic ITS location.	\$250.00	4	\$1,000.00
Vehicle delivery	Vehicle delivery from one Prologic ITS location and drop off to one customer location.	\$250.00	4	\$1,000.00

Subtotal:

\$2,000.00

ProL@gic ITS

Rockdale County Fleet Services-GA- 2024 F150 4

Prepared for:

Rockdale County Board Of Commissioners-GA

958 Milstead Avenue, PO BOX 289 Convers Ga 30012 Convers, Georgia 30012

Kimberly Veasley 770 27807542

kimberly.veasley@rockdalecounty

ga.gov

Bill To:

Rockdale County Board Of Commissioners-GA

Kimberly Veasley

Conyers Ga 30012

Conyers, Georgia 30012

Rockdale County Board Of Commissioners-GA

Kimberly Veasley

958 Milstead Avenue, PO BOX 289 958 Milstead Avenue, PO BOX 289

Convers Ga 30012 Convers, Georgia 30012 Quote Information:

Quote #: 010752

Version: 1

Delivery Date: 11/19/2024 Expiration Date: 12/18/2024

Quote Summary

Description	Amount
Products	\$23,337.48
ProLogic Services	\$11,773.48
Transport	\$2,000.00

Subtotal:

\$37,110.96

Shipping:

\$900.00

Total:

\$38,010.96

2024-158

Payment Terms: Net 30 Days. After 30 days, unpaid balances are subject to a 1.5% handling fee per month (18% annual). A PO is required for orders exceeding \$10,000. Credit card payments over \$5,000 are subject to a 2.9% fee. Warranty covers manufacturer defects only, excluding battery defects, unless explicitly stated herein. Dual-signed Scope of Work will be required prior to placing initial order.

Prices and tax rates are valid in the U.S only and are subject to change. Taxes represented in quotes are estimates and may vary from taxes reflected on invoice (based on physical ship-to address).

Sales/Use tax is a destination charge (i.e., based on physical ship-to address on purchase order). Please indicate your taxability status on your PO. If you are tax exempt, please include proper documentation. If you are not tax exempt, please calculate and include all applicable tax on your PO. Hardware cancelations may be subject to up to a 50% restocking fee.

See Terms and Conditions at www.prologicits.com/terms-conditions/

Quotes are valid for 30 days only and are subject to change without notice due to the imposition of new trade tariffs



Rockdale County Board Of Commissioners-GA

Signature:	
Name:	
Title:	
Date:	